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Question 1

Which diagrammatic presentation of statistical data requires ‘Frequency Density’?
(I ARSI (FLMOG TN ST AL T TG =Y 2

Question 2

In drawing an ‘Ogive’ what is measured along the ordinate (y-axis)?
"8G’ WFIN ST OHT S [ AT 51 27 2

Question 3

In presenting the frequency distribution, which one of the following diagrams is meant for a discrete variable?

RIRA B9 (G ALY ROTGHTE ((TUBad NI SAFIH© FAH G (WX 4o (H B GHAIS 2(J ?

Question 4

Monthly income of workers in a factory falls under which category of the following?

(BT G- AT (FTH JNHFI NHF A NHF (FI [ TB9& (I ?

Question 5

(Class frequency) / x = Relative frequency
What is x'?

(CSY HNfFSTLAT) [ x = WCARSS A F>I4m
UM 'x' JeT0o B @R/ 2

Question 6

In a pie chart the share of different sectors are indicated which are having percentage shares of the total. The relevant angle at the centre of the pie chart has
to be calculated.

The formula is : The desired angle = k. (corresponding percentage of the sector).

What is the value of ‘k’?

HOTIEF AMTOT AP G JSHLG (AT [NHE RN WIZ N FAO = JSHIAR (U™ JF6 (FIY [RefT F00 27| A6 =67 -
(IR N = k * ([F@r191foR *rere=)
92 k-GF VN S ?

Question 7

For a moderately asymmetric distribution the mean and median are respectively 24.5 and 24.3. Find out the value of Mode
Fg ARV (FH [TOGINT g MO 51T & NTNF NN IAEFCN 24.5 ¢ 24.3 | A4 O] IO (Mode) NI 9 X(q ?

Question 8



A train ran at x km per hour from A to B and returned from B to A at y km per hour. What is the average speed in km per hour?

JF6 (G x km 2ATS T6T (JTST A (AF B (@ (NG I3 (FAS Y B (ATF A (NG y km S 6T (T | (NG TG SS9 [RofT T |

Question 9

If AM and Coefficient of Variation of x are 6 and 50% respectively, then find out the variance of x.
M x G MNASH MG W G CSHITERT (C.V.) W I 6 433 50% T, O x-AF (SN [T FE |

Question 10

Standard Deviation is dependent on the change of which one of the following?
21 RS (S.D.) FOIF ARSI T2 9T I 2

Question T1

Two regression lines are
2x+3y—-4=0 and x + 2y + 6 = 0. The correlation coefficient between x and y is

7O AGLARF NS (AT TAECN
2x+3y-4=04€®x+2y+6=0.
x 8 y O3 STZAS B (correlation coefficient)fNofT w1

Question 12

If the two regression lines coincide, then what will be the value of correlation coefficient?
75 AGLARF NG (@A AT WHBFeN T4 N T YN F2HS BNEHT NN F© 2 ?

Question 13

If the correlation coefficient between x and y is 0.4, then what will be the correlation coefficient between 3x and —2y?
M x & y I ARG BNE 0.4 T, OF 3x 72 —2y AT A2 BNE F© 2 ?

Question 14

How Fisher’s Ideal index can be calculated?

Question 15

If the prices of all items change in the same ratio, then the Laspeyre’s and Paasche’s index will be related in the following way
I VS T AW I3 ZMF AFIASS 2T O AT & S 66 61 S~ fF =7 2

Question 16

Which index satisfies the Factor Reversal Test?

TAMI et e (Factor Reversal Test) (RIN 3]6P e =T 2

Question 17

If the Consumer Price Index in 1992 with 1985 as base period is 225, then how much the retail price has increased on the average?
M (STSITMF W S5 (CPI), 1985(F [Of& IS 4T, 1992 ST G 225 XX O(F YHIH AN G FOOI Jia (ATACR I M 2

Question 18



The period of movement of time series for Seasonal variations is
YOG (OTHH GNT FIAI SRR TAN o FOOT TNAPICETL G A TN B =T 2

Question 19

In fitting a Parabolic curve of second degree through Least Square Method, how many normal equations will be required?

AR I5f TN G OT® JH0 IS =P IR (FUCS SPHTS NSLATT FATS TS FICO FAD N TNPACF ATIGHN =T 2

Question 20

Time Series data can be decomposed by two models in ‘k’ number of components. What is the value of ‘k’ ?
FA AR ATSATH 76 NGLER TIRICTF (ST (FACET k ALLTF SAIH MET T | k ]I TN FS 2

Question 21

What type of movement in time series data are captured by secular trend method?

ST SIFSLIRTE SR I AT fF AN TU S AT F1 2T 2

Question 22

What is the probability of getting head each time, when an unbiased coin is tossed twice?

G375 RIFF¥ o1 72319 BOle YRR (TG ATSTR AR [Nl FF |

Question 23

Three letters are written and put at random inside three addressed envelopes. Calculate the probability that the letters go into the right envelopes.

fSNG BfS F0Y SIS O fONG SFT (@741 TN (G =671 B % % wrw wrew sTsr=r [NoT T |

Question 24

An urn contains 6 red and 4 white balls. Two balls are drawn without replacement. What is the probability that the second ball is red, if it is known that the first
is red?

G0 AfeTre 6 6 7 g3 4 6 M1 60 WIR | 76 I (I FAT A AW JEM0 (FF0 W1 M| (RS IAGF AT AT ASIRAT [T F, T4 G AN (F
2N JEAD A @RONR |

Question 25

Three boxes of the same appearance have black and white balls in the

following proportion:

Box | : 5 black and 3 white

Box II: 6 black and 2 white

Box IlI: 3 black and 5 white

One of the boxes is selected at random and one ball is drawn randomly from it, given that the ball is black, find the probability that it came from Box IIl.

AR IFN (MYTS ON0 A3 SR | A 1-4 5 6 F1en & 3 6 51 34, I3-11 (S 6 6 FIeer @ 2 6 51 1 = - 11 (@ 3 6 ieem @ 5 16 sy et =g |
ST BT JF0 AR RN I I A3 O (ATF TSI SAT JH(0 Je1 (IF F1 2| T IAG HICAT T OIR(A AH0A - 11 TST[ TSRAT [T
PP |

Question 26

The expected value of the sum of points obtained in two throws of a fair die is

G316 RITF*T ZEITF F2AF B 26| FRANAT RS (Trwrag oo eremmn Nef FF+ |

Question 27



A random variable Z takes the value 2 with probability 1. Find Var(Z)
I TSI 561 Z 9 NI 2 ZAE AR IM 1 T, O Var( 2 ) [T FF |

Question 28

A continuous random variable X has a probability density function given by
F(x)=1/2 -ax, O0<=x<=4
=0 , elsewhere
Where, ‘a’is a constant.
Find the value of ‘a’.
G0 AR IS 561 X TERA-TNG-SCFHF (ST WY
F(x)=1/2 -ax, O<=x<=4
=0 : M RURIE
(T ‘2’ G0 &FIF | ‘a’ T MW [T T+ |

Question 29

For a Poisson distribution with mean 1, find out the ‘Mean Deviation’ about mean.
G575 (Tt TR oG 1% 1 T, O & MG TTHNTF 916 TS (Mean Deviation) fefe |

Question 30

Suppose that a random sample of size 10, drawn from a Normal population, has mean 40 and standard deviation 12. Find 99% confidence limits for the
population mean.

Given: ‘1t value at 0.005 =3.25for 9d.f.

{ATAF A YfF (Normal population) (TF JH6 STHASI VAT 5TV FAT Z(ICE T n = 10, NG =40 43¢ AN RS (S.D.) = 12, I N F MG
(Population Mean) 99% Wﬁ)ﬁﬂ (confidence limits) fNofsy = |

((MSAT AR : 10.005 =3.25JYNd.f.=9)

Question 31

Which one of the following is a semi-logarithmic chart?

Ao FIIT AN (T4foq I =T 2

Question 32

To exhibit the population of 6 countries in 2010 diagrammatically, which one of the following will be the suitable diagram?

6f% (T NS 2010 ST F© e (6T (UG Tas I BAE® FACS (e NHA (N @O0 GHNIF = ?

Question 33

The percentage allotment of total budget for different sectors like agriculture, industry, health, education etc., in first and second five year plan in India has
been given. Which diagram of the following can not be used to present the above information graphically?

OIS AN ALIMIB! & BT /26! ARFIT RO WTo (TIF FX, g, Fr7, R Tonhre Y IATHT o1 AR (8T OMR | [ES (I
(FTYfoare G2 AROT TAZI F1 M T 2

Question 34

Frequency density = Class frequency/x What is x?
AL T = (I (AT ARALLI / x
YT x (PG 2

Question 35

In drawing Histogram, what is measured along the abscissa (x-axis)?



WY (Histogram) ST TN WJ ol B NS (x-axis) (B AT F1 =T 2

Question 36

Proportion of boys in a class of 50 students falls in which category of the following?

50 O QIG-Blald FI0T YAHE WYATS N (I [FoIsy Howd 2

Question 37

Which one of the following is not a measure of central tendency?

WEI (G (FRIT AITOR AT ¥ 2

Question 38

Find out the Harmonic Mean of 1,1/2,1/3,1/4,1/5,1/6,1/7
1/2,1/3,1/4,1/5,1/6,1/7 G2 SN RIS 510G [Nof w2 |

Question 39

The A.M of a set of 10 numbers is 5. If 2 is added to each number, what will be the value of the new A.M?
10 6 ST 27F MAEF 517G T 5 T, O P 10 6 RN TSI SNH 2 (T (MSTF T Vo NASB TGH7 W F© (I NN T |

Question 40

Find out the G.M of the 5 numbers: 17,8,0,5,3
56 Ss4ms 17, 8, 0, 5, 3 99 GM F© R T |

Question 41

What is the formula for co-efficient of variation?
(OHI(FA (Coefficient of Variation) ﬁéﬂ@ 2

Question 42

Find out the “Range” from the observations -6, -9, -8, -1, -4
-6, -9, -8, —1, —4 42 AMSIATF 2T (Range) NI T

Question 43

The SD of X1, X2, ..........., X7 is “s”, findthe SD of -X1,-X2, ........., -X7

X1, X2, v, X7 g3 STNF NYFT (Standard Deviation) MM 'S' TF, SI —x1, X2, ........., —x7 g3 ANF NLFT (SD) N7 T
Question 44

For any probability distribution, find out the first order central moment (m1)

(T (AT TERAT ROMGTAL Gy AN (FRT IINCHI NN F© (S ?

Question 45

For a symmetrical distribution Q1 = 24 and Q3 = 42. Find out the value of Median.
GF6 AT REMGTAT Q1 = 24 and Q3 = 42 (e VTN W F© (S ?



Question 46

For a symmetrical distribution, find out the third central moment (m3)

0 ASHN [TOIGINT T ToIT (FRT IS (m3) [Nofg T

Question 47

The correlation co-efficient lies between which one of the following ranges?

BERICRRIES (Correlation Coefficient) NET (T A NS NF[N PLT ?

Question 48

If the two regression lines are mutually perpendicular, then find the correlation co-efficient
M fRGIY (@41 (regression lines) Tf6 ATTRR T2 A1 2T, OF A2IS BT N7 FE |

Question 49

The lines of regression concerning the variables x and y are given by
X+2y-5=0 and 2x+3y-8=0 Find out (AM of x, AM of Y)

x 8 y 5673 Hiod G 16 fRwI9 (4T (regression line) (ST ITE ~ x + 2y — 5= 0 433 2x + 3y — 8 = 0 | 2 B (ATH (AM of x, AM of y) fNfT Tz |

Question 50

If the fixed base index and chain base index are equal, then which test will be satisfied by the formula of the index number?

FIOIS Ha® 8 *eeIfofe N (fixed base method and chain base method) ST Y S Wﬂ%‘ﬂﬂﬂﬁ Q@NWW?QW TSNP ] G
(N 6 AT TSl =T 2

Question 51

Paasche’s index is based on which of the following?

NS STEFALLT NHF (AL fofSre A9 =T 2

Question 52

Which one of the following satisfies time reversal test?

T RANTVOFIT HIEHIT N (FN JAM6 Gotef =T 2

Question 53

Which one of the following process is the construction of one continuous series from two different index number series with a common base year?

NER (F AGHSTS 7o (AN ToF T WNBFAF JF6 WIORH (HNTS TSRS FA1 2T IF2 6@ IRIT SATT 2

Question 54

Which one of the following index will be formed if weighted HM of price relatives are calculated by using current year value as weights?

TEN IR TNF O RO YT I ACARFF AN OIRYS [0 QNN NG N1 FAT 2T, OIRCE 15 (FI SIHF06 ST A 2

Question 55

Increase of sales of garments during Durgapuja is associated with which one of the following?

TNPTGE ST TN DTG [ IR ([FTC AT | G2 THAIND NHH (PN S STNELT 2



Question 56

Fall of production in a cement factory due to strike is associated with which one of the following?

GG FSITTG FIRAUWIT F FTHATN T3 SN 21 AT | G2 ToIG NHF (FINGI ST THAFLE 2

Question 57

The probability of winning the first prize Rs.5000 or second prize Rs.2000 in a lottery for a person is 0.001 and 0.003 respectively. What should be the

expected correct price of the lottery ticket?
g3 S 611K {GPCG 5000 BIPTH AN I AT 2000 BIFIF (T HAHIT HSTR TSR IAERCN 0.001 I3 0.003 (T FAGIAIA [GPLEI AfDB
ANSTH® WY F© OIHT TSI B9 ?

Question 58

The probability of event A occurring is 0.5 and that of event B occurring is 0.3. If events A and B are mutually exclusive, then find out the probability of neither

A nor B occurring.
41 5 A TGN G619 98 B TG~ YOI AW 2 IAEHN 0.5 I3 0.3 , I A 32 B TGN BT =K f[IfT=A (mutually exclusive) =T, OF A 43¢ B 762

1 0T AV F© ?

Question 59

If a Poisson distribution has double mode at x = 3 and 4, then find out the co-efficient of variation of the distribution

M JH6 21T oo fB-SFTF (Bimodal) R T (T SRBIHFT W X=3 42 4, SR [ROIGHIGT (SAIE (coefficient of variation) fNTT Fw 2

Question 60

The quartile deviation of a normal distribution is 10. Find out the mean deviation of this distribution.
JF6 FTOIIF OISR (Normal distribution) TR A12(FT=10 (A ROIGHG TG NFS [Nl T |




